KHB (BKH) . KHM ( MKH ) R3S EEKE

KHB(BKH), KHM ( MKH ) Series High Pressure Ball Valve

—

MEES PNDN LW RA  dl L1 B H hl h2SW1Sw2
KHB-M16x15 500 06 06 11 M16x15 11 69 40 26 445 435 33 09 22

J:I‘ .
BISiHBE Model Code KHB-M22x15 500 10 08 16 M22x1.5 12 76 42 32 505 16 . 36 09 27

KHB- M27x1.5-10 -1111 -01 -1 KHB-M27x1.5 500 10 10 20 M27x1.5 12 76 42 32 505 16 36 09 27
1 2 3 4567 8 9 KHB-M30x15 400 16 15 24 M30x1.5 13 84 48 38 595 19 | 45 09 32
! SW2 KHB-M36x2 400 20 20 30 M36x2 15 103 60 48 715 25 55 12 41
LRFIRE : KHB ( BKH ) Z5I- Mt B SREDNO4-25, . KHB-M42x2 350 25 25 35 M42%2 18 116 65 57 805 285 64 12 50
KHM(MKH)Z 512558 DN32-50 ; _ ISy KHM-M52x2 350 32 30 40 M52:2 07720 149 BAAT7S 10257975 84 14 60
2iEEE  M¥* G** **LR, **SR, PT** NPT**; m KHM-M60x2 350 40 38 45 M60x2 22 174 91 " 85 1135 425 95 14 70
3.4MFRiE42 - 04, 06, 08, 10, 13. 16, 20, 25. 32. 40, 50; D\ KHB-G1/8 500 04 06 / G1/8 14 69 _40 26 445 135 33 09 22
4 fRR, LA 1-45#, 3-316REEH \‘A G KHB-G1/4 500 06 06 / G1/4 14 69 40 26 445 135 33 09 22
Zggmf}ﬁﬁi : l\:-{éﬂg; é-}nezzﬁﬁ E?Elﬁ&ﬁ) ; KHB-G3/8 500 10 10 / G3/8 14 72 42 32 505 16 36 09 27
: i A ” : KHB-G1 500 13 12 o~
RSB FIRBAMES AR - L NRC OB ) 2-FPM/EKMOUMED R S ———
S8 FFEH 01-CRF S MTFHE . 02-BEIES£MTFN. 03-BRENEFA. LW | w2 o = e '
09-TREEH : / KHB-G3/4 400. 20 20 /"" G3/4 18 95 60 48 715 25 55 12 41
9EELME: 1- RSN ; 2-8Ea s / ]' v KHB-G1 350W@RS Wl 25 / Gl 21 113 65 57 805 285 64 12 50
&1 - SR R S A R, - / : . KHM-G1 1/4 350 SZ2ae32 / Gl1/4 22 110 84 75 102.5 375 84 14 60
MELITARMERES  PTFEMEH{ERN RS TFENTBIZ100bar zz— =<1 KHMYG11/2 \ 350 40 38 / Gl11/2 24 130 91 85 1135 425 95 14 70
HEEKREAHAESE ) . KHM-G2 350 so 48 _— G2 26 140 100 104131 52 112514 90
KHB-NPT1/8 500 04 06 NPT1/8 11 69 40 26 445 135 33 09 22
1.Series Code:KHB (BKH) Series Valve block ball valve DN04-25 NPT(PT) KIHMPTIM ol 85 / HET1 — e 49 e 2 -
KHM(MEKH) Series Sleeve type ball valve DN32-50: dl KHB-NPT3/8 500 10 10 / NPT3/8 11 72 42 32 50.5 16 36 09 27
2.Joint Code:M**, G**, **LR, **SR, PT** NPT**; KHB-NPT1/2 500 13 12 / NPT1/2 14 83 47 35 525 18 38 09 30
3.Nominal Diameter:04, 06, 08, 10, 13, 16, 20, 25, 32, 40, 50; LW | sw2 KHB-NPTL/2 400 16 15 _~ NPT1/2 14 83 48 38 595 19 45 09 32
4.Valve body/joint material:1-carbon steel. 3-316 stainless steel | / :
5.Ball body/ Valve stem material:1-carbon steel. 3-316 stainless steel ¥ | KHB-NPT3/4 400 20 20 / NPT3/4 15 95 60 48 715 25 55 12 41
6.Ball sealing material:1-POM 2-PTFE - n y Q KHB-NPT1 350 25 25 / NPT1 1 113 65 57 80.8 285 64 12 50
7.Sealing material(Sealing material of joint/valve stem):1-NBR 2-FPM/FKM IR g KHM-NPT11/4 350 32 30 _~ NPT11/4 18 110 84 75 1025 37.5 84 14 60
8.Handle Type:01-C type zinc alloy crooked handle 02-B type zinc alloy crooked handle KHM-NPT11/2 350 40 38 / NPT11/2 18 130 91 85 113.5 425 95 14 70
03-B type casting steel crooked handle 09-without handle .
9.Surface Treatment: 1-SILVER ZINC PLATED KHM-NPT2 350 50 48 / NPT2 18 140 100 104131 52 112514 90

PS:The Material Pressure parameters corresponding to the product is carbon steel. KHB-06LR 500 04 04 06 M12x1.5 10 67 40 26 445 135 33 09 22
(101;1&irsstpheec?f?cr::folnn:isl.et::::;:toa::ir;thanlUUbarwhenusingPTFE- LR KHB-08LR 500 06 06 08 M14x15 10 67 40 26 445 135 33 (09 22
KHB-10LR 500 06 08 10 M16x15 11 74 42 32 505 16 36 09 27

24° KHB-12LR 500 10 10 12 M18x15 11 74 42 32 505 16 36 09 27

B 52 Hydraulic Schematic N dl KHB-15LR 500 13 12 15 M22x15 125 82 47 35 525 18 38 09 30
RA KHB-15LR 400 16 12 15 M22x1.5 12 82 48 38 595 19 45 09 32

LW KHB-18LR 500 13 12 18 M26x15 125 82 47 35 525 18 38 09 30

KHB-18LR 400 16 15 18 M26x1.5 12 82 48 38 595 19 45 09 32

YMIZR~T Overall Dimension sw2 KHB-22LR 400 20 19 22 M30x2 14 101 60 48 715 25 55 12 41
T i KHB-28LR 350 25 25 28 M36x2 14 108 65 57 80.5 285 64 12 50

= S L W KHM-35LR 350 32 30 35 MA45x2 16 141 84 75 1025 375 84 14 60

SW2 - SW2 KHM-42LR 350 40 36 42 M52x2 16 162 91 85 1135425 95 14 70

’__,:mq,_‘ . * : »:‘m&ﬁ 2 KHB-08SR 500 04 05 08 M16x1.5 12 73 40 26 445 135 33 09 22
2 B TSy SR KHB-10SR 500 06 06 10 M18x15 12 73 40 26 445 135 33 09 22
?_ H ﬁﬁ |= %f;ﬁ\ e - KHB-12SR 500 06 08 12 M20x15 12 76 42 32 505 16 36 09 27

| _ _ £ I _ 1 = KHB-14SR 500 10 10 14 M22x1.5 14 80 42 32 505 16 36 09 27

] Q§;§u - - L ‘a&ﬁ/x’ ” d1 KHB-16SR 400 13 12 16 M24x15 14 86 47 35 525 18 38 09 30

{ -ar ) & % RA KHB-16SR 500 16 12 16 M24x15 14 86 48 38 595 19 45 09 32
1 U 1 W W, KHB-20SR 500 13 13 20 M30x2 16 90 47 35 525 18 38 09 30

. 2 L 5 KHB-20SR 400 16 15 20 M30x2 16 90 48 38 59.5 19 45 09 32

_ SW2 gHB-255R 400 20 20 25 M36x2 18 109 60 48 715 25 55 12 41

KHB ( BKH ) & KHM ( MKH ) B = :[ﬂ/ KHB-30SR 350 25 25 30 M42x2 20 120 65 57 80.8 285 64 12 50

KHM-385R 350 32 30 38 M52x2 22 153 84 75 1025 375 84 14 60






